X2 Txy + 12y &
Q7] e 701

@ x+7Ty @ 2x+7 @ 2x+ 7Ty

@ 2x+ 3y ® 2x+y



x A7 Y

©
—

(x=2)(x+3) —4(x+3)

2.

® x+3

@ 2x+3

@ 9

® 2(x-3)

@ 2x-3



3. PP-3+5-7"492-117 9 gh= F5tof=h



4. 9a2-16b2=-129]13a—-4b=4 4 W, 3a+ 4b 2] 2 FL5HH?

@ 2 @ 3 ® -2 @ -3 ® -5



=

oo

T A2olE v

s
Y
rlo

2

®© ma+mb—m=m(a+Db)

@ 64a® + 32ab + 4b* = (8a + 2b)?
® —4a® + 9b*> = (2a + 3b)(2a - 3b)
@ x> -5x-6=(x-2)(x-3)

® 2x* = 5xy 4 3y* = (x - 3y)(2x —y)



6. ax?+40x+ 16 o] LAAZA] 5]7] $I5t a O] gL Fafelet.

B



4x% -9, 2x2 —5x+3 9] 2l Fo|A T 5

Q159 e Fatolet,

o
L

o
j

58 A

2

=



ol

)

o

s
a4

o, 21 22 o] b=, AR Lol 7t

PN AN

=T~

— 8 8
— 8 8
— 8 8
’
\
SRo SR--
~g- - ~- -
= ]
N S- -
o~
8 Q “ _
— = — 8
~o- - SR-- 8-

® x+1,3x+1

@ x+6,2x

@ x+3,2x

® x+6,2x+3

@ x+3,2x+1



o RN FEG (0D, () g

o olt ggw, 59 (ho 7 P =
se9 Z2olbaxtbolch avs v P +h

o #E Forl L. _|‘3w+2f’ _|“-3x+5—"'—

Ea+b=



10.

(x = 2y)(x - 2y - 3) - 10 QI5Efstd
(x=2y+m)(x=2y+n) &, mn 2] 727

@® -10 @ 3 ® 10 @ 2



X2 —494+14y—y? ol x  AF7F1

11.

ol

® 2x

@ y+14

@ 2(x-y)

® x-y+2

@ 2x-2y-7



1
V2-1

o, a® - b o] F& Fstolt






[e]
14. x* -10x2 4+ 99] QI47} obd 722

D x-1 @ x+3 @ x2-1

@ x+9 ® x*-10x2+9



15. 2+ 3xy—x-6y-2 5 A3l ot¥ (x - 2)(ax + by + ¢) ©|Th.
a+b+c o = Fstofet

agia—i—b—i—c:



16. th2 1™9] ALY ABCD & A2 9

- E

Zdol7} x, 7t2 9] Z4o]7t y 0|1, oABFE
¢} oGFCH 7} 25 Az o). of G

8~

oEGHD 9] H¥ol=? (% x<y<2x) |

-

D -2x% + 3xy —»? @ —2x% - 3xy —y?
@ 2x% - 3xy —y? @ 2x2 + 3xy —y?

® 2x% + 3xy +y?



17.

@ -xy

@ 2y—xy

@ 2x-xy
® x—xy




@ 3x—-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x- D)

g
g
o e



19. 9= F % -y -n? + 0y & dFE?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y



x=34+V8,y=3- V8L, (x"+y)2-(x"-y")% <]

20.

<k

ﬂ_mo

o
°
olJ

@ 2 ® 3 @ 4 ® 5

D1



